
品番 商品内容１ 税抜定価 税込定価
MF-E9 Lancer Evolution Sequential Gearbox with the HGL-EP-1 for CT9A EVO4-9 ¥2,964,200 ¥3,201,336
MF-E10 Lancer Evolution Sequential Gearbox with the HGL-EP-1 for CZ4A EVOX ¥2,964,200 ¥3,201,336
RD6-S 6 Speed Sequential dog change with oil pump ¥2,603,200 ¥2,811,456
GTR-SEQ 6 Speed Sequential dog change for Skyline GTR ¥2,603,200 ¥2,811,456

SG-S
6 Speed Sequential dog change with oil pump
Indirect gearbox with drop gears

¥2,530,900 ¥2,733,372

HTA
6 Speed H-pattern dog change with oil pump.
Horizontal shaft configuration for extra ground clearance

¥2,313,900 ¥2,499,012

RD6-H 6 Speed H-pattern dog change with oil pump ¥2,313,900 ¥2,499,012
FHAC-001 CORVETTE FRONT ADAPTOR PLATE ¥289,200 ¥312,336
FHAS-003 HS6 TO SILVIA  ADAPTER PLATE ¥289,200 ¥312,336
FHAM-001 HOLINGER TO MUSTANG ADAPTER ¥216,900 ¥234,252
FHAM-005 HOLINGER TO MTC MUSTANG ADAPTER ¥216,900 ¥234,252
FHAC-002 CORVETTE DIFFERENTIAL ADAPTOR PLATE ¥173,500 ¥187,380
FHAJ-001 JACKEROO TRANSFER CASE ADAPTOR PLATE ¥173,500 ¥187,380
FHAS-005 RD6 TO SILVIA 5 SPEED ADAPTER PLATE ¥159,100 ¥171,828
FHAV-001 HOLINGER TO VIPER ADAPTER ¥147,500 ¥159,300
FHAV-005 RD6  TO VIPER ADAPTER ¥147,500 ¥159,300
FHAN-001 H6S TO NISSAN 300ZX ADAPTER PLATE ¥144,600 ¥156,168
FHAR-003 RD6/SG TO RX7 ADAPTER PLATE (LONG SHAFT) ¥144,600 ¥156,168
FHAR-001 H6S TO RX7 ADAPTER PLATE (SHORT SHAFT) ¥115,700 ¥124,956
FHAR-002 H6S TO RX7 ADAPTER PLATE (LONG SHAFT) ¥115,700 ¥124,956
FHAS-001 SUPRA ADAPTER FOR H6S (V160) ¥115,700 ¥124,956
FHAS-002 SUPRA ADAPTER FOR VIPER ¥115,700 ¥124,956
FHAS-004 HS6 TO SUPRA V2  ADAPTER PLATE (V161) ¥115,700 ¥124,956
PCS 6 Speed Sequential dog change for Porsche 996 GT3 ¥2,675,500 ¥2,889,540
HLE-V2 5 Speed dog change for Lancer Evo 4/5/6/7/8 ¥1,590,800 ¥1,718,064
FHLE-105-15:61 PINION SHAFT (15:61) (4.067) ¥216,900 ¥234,252
FHLE-100-1236/1326 INPUT SHAFT LANCER EVO (12:36)(13:26) ¥208,300 ¥224,964
FH6S-DV-012 SANDWICH PLATE (CASTING) ¥197,800 ¥213,624
FGTR-SEQ-039 GTR SEQ REAR CASE ¥192,300 ¥207,684
FRD6-001 RD6 MAIN/FRONT CASE ¥190,900 ¥206,172
FGTR-SEQ-001 GTR SEQ MAIN CASE ¥188,000 ¥203,040
FGTR-SEQ-002 GTR SEQ BELL HOUSING ¥188,000 ¥203,040
FH6S-DV-013 FRONT CASE ¥187,400 ¥202,392
FRD6-002 RD6 SANDWICH PLATE ¥182,200 ¥196,776
FRD6-050 RD6 SEQUENTIAL REAR CASE ¥180,800 ¥195,264
FSG-027 SG SEQUENTIAL REAR CASE ¥180,800 ¥195,264
FGTR-SEQ-038 GTR SEQ SANDWICH PLATE ¥175,000 ¥189,000
FGRA-003 GRA MAIN / FRONT CASE ¥173,500 ¥187,380
FH6S-001 H6S REAR CASE ¥173,500 ¥187,380
FH6S-112GS-01-22:24 VT-INPUT SHAFT-GROUND SPUR-RATIO (22-24) ¥173,500 ¥187,380
FGRA-003 GRA MAIN / FRONT CASE ¥173,500 ¥187,380
FRD6-051 RD6 SEQ/FIXED SELECTOR CASE ¥166,300 ¥179,604
FSG-029 SG SEQ/SLIP SELECTOR CASE ¥166,300 ¥179,604
FH6S-034 H6S SANDWICH PLATE ¥164,900 ¥178,092
FH6S-034 H6S SANDWICH PLATE ¥164,900 ¥178,092
FH6S-SEQ-035 H6S SEQ SELECTOR CASE ¥159,100 ¥171,828
FH6S-DV-019 MAINSHAFT ¥156,200 ¥168,696
FH6S-DV-018A-23:24 DV-INPUT SHAFT-SPUR-RATIO (23-24) ¥156,200 ¥168,696
FSG-017 SG MAIN/FRONT CASE ¥152,600 ¥164,808
FH6S-SEQR-004 H6S-SEQR REAR CASE ¥147,500 ¥159,300
FHAV-001 HOLINGER TO VIPER ADAPTER ¥147,500 ¥159,300
FH6S-SEQR-004 H6S-SEQR REAR CASE ¥147,500 ¥159,300
FH6S-DV-001 SELECTOR HOUSING ( CASTING) ¥145,800 ¥157,464
FH6S-DV-020 LAYSHAFT ¥143,200 ¥154,656
FH6S-DV-047 CAM SHAFT ¥138,800 ¥149,904
FH6S-SEQ-012 H6S SEQ CAMSHAFT ¥138,800 ¥149,904
FH6S-SEQR-018-22:24 INPUT SHAFT-HELICAL-RATIO (22-24) ¥137,400 ¥148,392
FH6S-002 H6S SELECTOR CASE ¥135,900 ¥146,772
FGTR-SEQ-003 OVERDRIVE CAMSHAFT ¥133,100 ¥143,748
FGTR-SEQ-045A-22:26 INPUT SHAFT-STD-HELICAL-RATIO (22:26) ¥132,300 ¥142,884
FRD6-060-0 RD6 1:1 TOP CAMSHAFT ¥130,200 ¥140,616
FRD6-060-0 RD6 1:1 TOP CAMSHAFT ¥130,200 ¥140,616
FHLE-116-61:15 RING GEAR (61:15) (4.067) (V2) ¥125,800 ¥135,864
FRD6-005 MAINSHAFT FIXED OUTPUT FLANGE ¥125,800 ¥135,864
FGTR-SEQ-049 GTR MAINSHAFT ¥117,900 ¥127,332
FH6S-025 MAINSHAFT ¥117,100 ¥126,468
FH6S-025 MAINSHAFT ¥117,100 ¥126,468
FRD6-087GS-22:24 INPUT 6 SPEED-GROUND SPUR-QUILL (22:24) ¥115,700 ¥124,956
FSG-026 SLIP YOKE MAINSHAFT ¥112,800 ¥121,824
FHTA-016 LAYSHAFT ¥107,000 ¥115,560
FH6S-023 LAYSHAFT ¥102,700 ¥110,916
FGTR-SEQ-046 GTR LAYSHAFT ¥102,700 ¥110,916
FH6S-023 LAYSHAFT ¥102,700 ¥110,916
FSG-007-22:25 INPUT SPEED-SPUR-QUILL (22:25) ¥101,200 ¥109,296
FSG-014 LAYSHAFT ¥95,400 ¥103,032
FGRA-040H OUTPUT FLANGE 1350 ¥94,000 ¥101,520
FH6S-SEQ-031 PAWL CARRIER ¥75,900 ¥81,972
FH6S-SEQ-031 PAWL CARRIER ¥75,900 ¥81,972
FH6S-SEQ-031 PAWL CARRIER ¥75,900 ¥81,972

2016.3.2
株式会社　東名パワード

HOLINGER 価格表

1/12



品番 商品内容１ 税抜定価 税込定価

2016.3.2
株式会社　東名パワード

HOLINGER 価格表

FH6S-SEQ-031 PAWL CARRIER ¥75,900 ¥81,972
FGTR-SEQ-011 PAWL CARRIER ASSEMBLY ¥75,200 ¥81,216
FHLE-117 IST/2ND SELECTOR FORK (V2) ¥73,800 ¥79,704
FHLE-118 3RD/4TH SELECTOR FORK (V2) ¥73,800 ¥79,704
FHLE-119 5TH/REV SELECTOR FORK (V2) ¥73,800 ¥79,704
FHLE-106-36:12 DOG GEAR-SPUR-1ST-(36:12)(3.000) (V2) ¥69,400 ¥74,952
FHLE-114-26:13 DOG GEAR-SPUR-2/3/4 (26:13)(2.000) (V2) ¥69,400 ¥74,952
FHLE-114-25:17 DOG GEAR-SPUR-2/3/4 (25:17)(1.471) (V2) ¥69,400 ¥74,952
FHLE-114-20:18 DOG GEAR-SPUR-2/3/4 (20:18)(1.111) (V2) ¥69,400 ¥74,952
FHLE-120-24:28 DOG GEAR-SPUR-5TH (24:28)(0.857) (V2) ¥69,400 ¥74,952
FH6S-DV-008GS-33:14 DOG GEAR-GROUND SPUR-RATIO (33-14) ¥65,100 ¥70,308
FH6S-DV-008GS-31:17 DOG GEAR-GROUND SPUR-RATIO (31-17) ¥65,100 ¥70,308
FH6S-DV-008GS-28:19 DOG GEAR-GROUND SPUR-RATIO (28:19) ¥65,100 ¥70,308
FH6S-DV-008GS-26:21 DOG GEAR-GROUND SPUR-RATIO (26:21) ¥65,100 ¥70,308
FRD6-086GS-24:23 DOG GEAR-GROUND SPUR-RATIO (24-23) ¥65,100 ¥70,308
FH6S-DV-003 SELECTOR RING ¥65,100 ¥70,308
FH6S-DV-064 FRONT COVER QUILL SHAFT ¥63,600 ¥68,688
FH6S-DV-064 FRONT COVER QUILL SHAFT ¥63,600 ¥68,688
FPCH-018 SELECTOR RING ¥63,300 ¥68,364
FH6S-DV-022-21:26 DOG GEAR-SPUR-RATIO (21-26) ¥60,700 ¥65,556
FH6S-DV-022-20:28 DOG GEAR-SPUR-RATIO (20-28) ¥60,700 ¥65,556
FR-071 ELECTRONIC GEAR POSITION INDICATOR ¥59,300 ¥64,044
FR-071 ELECTRONIC GEAR POSITION INDICATOR ¥59,300 ¥64,044
FR-071 ELECTRONIC GEAR POSITION INDICATOR ¥59,300 ¥64,044
FH6S-103GS-33:14 DOG GEAR-GROUND SPUR-RATIO (33-14) ¥57,800 ¥62,424
FH6S-103GS-31:17 DOG GEAR-GROUND SPUR-RATIO (31-17) ¥57,800 ¥62,424
FH6S-103GS-29:19 DOG GEAR-GROUND SPUR-RATIO (29-19) ¥57,800 ¥62,424
FH6S-103GS-26:21 DOG GEAR-GROUND SPUR-RATIO (26-21) ¥57,800 ¥62,424
FH6S-104GS-24:23 DOG GEAR-GROUND SPUR-RATIO (24-23) ¥57,800 ¥62,424
FRD6-078 RD6 POTENTIOMETER SWITCH CASE ¥57,800 ¥62,424
FRD6-078 RD6 POTENTIOMETER SWITCH CASE ¥57,800 ¥62,424
FH6S-DV-008-33:15 DOG GEAR-SPUR-RATIO (33-15) ¥57,800 ¥62,424
FH6S-DV-008-29:19 DOG GEAR-SPUR-RATIO (29-19) ¥57,800 ¥62,424
FH6S-DV-008-25:21 DOG GEAR-SPUR-RATIO (25-21) ¥57,800 ¥62,424
FH6S-SEQR-003 SELECTOR RING 6 DOG ¥57,800 ¥62,424
FH6S-032 REVERSE IDLER ¥54,200 ¥58,536
FGTR-SEQ-036 REVERSE IDLER SPINDLE ¥54,200 ¥58,536
FGTR-SEQ-043-27:20 DOG GEAR-HELICAL-RATIO (27-20) ¥54,200 ¥58,536
FGTR-SEQ-043-24:23 DOG GEAR-HELICAL-RATIO (24-23) ¥54,200 ¥58,536
FGTR-SEQ-043-20:27 DOG GEAR-HELICAL-RATIO (20-27) ¥54,200 ¥58,536
FH6S-DV-002 FRONT COVER ¥52,100 ¥56,268
FH6S-039-00 H6S STANDARD H PATTERN GEAR LEVER ¥50,600 ¥54,648
FGTR-SEQ-072 GTR SELECTOR RING -  6 DOG ¥50,600 ¥54,648
FGTR-SEQ-044-34:14 DOG GEAR-HELICAL-RATIO (34-14) ¥50,600 ¥54,648
FGTR-SEQ-044-31:17 DOG GEAR-HELICAL-RATIO (31-17) ¥50,600 ¥54,648
FHLE-115 DOG GEAR-SPUR-REVERSE (V2) ¥50,600 ¥54,648
FH6S-DV-011 REVERSE GEAR  MAINSHAFT ¥50,600 ¥54,648
FHTA-025 HTA SELECTOR FORK ¥50,600 ¥54,648
FH6S-SEQ-013-01 H6S SEQ STANDARD GEAR LEVER ¥50,600 ¥54,648
FHTA-025 HTA SELECTOR FORK ¥50,600 ¥54,648
FSG-003-25:23 DOG GEAR-5/6-SPUR-(25:23) ¥50,600 ¥54,648
FSG-003-23:24 DOG GEAR-5/6-SPUR-(23:24) ¥50,600 ¥54,648
FH6S-DV-011 REVERSE GEAR  MAINSHAFT ¥50,600 ¥54,648
FH6S-SEQ-003 SWITCH COVER ¥50,600 ¥54,648
FH6S-SEQ-013-02 H6S DV STANDARD GEAR LEVER-BENT ¥50,600 ¥54,648
FH6S-SEQ-003 SWITCH COVER ¥50,600 ¥54,648
FH6S-SEQ-013-01 H6S SEQ STANDARD GEAR LEVER ¥50,600 ¥54,648
FH6S-SEQR-010-33:14 DOG GEAR 1ST-HELICAL-RATIO (33-14) ¥50,600 ¥54,648
FH6S-SEQR-011-31:17 DOG GEAR 2ND-HELICAL-RATIO (31-17) ¥50,600 ¥54,648
FH6S-SEQR-009-29:19 DOG GEAR 3RD-HELICAL-RATIO (29-19) ¥50,600 ¥54,648
FH6S-SEQR-012-26:21 DOG GEAR-HELICAL-RATIO (26-21) ¥50,600 ¥54,648
FH6S-SEQR-022-24:23 DOG GEAR-HELICAL-RATIO (24-23) ¥50,600 ¥54,648
FGRA-012 28:19 DOG GEAR-HELICAL-RATIO ¥50,600 ¥54,648
FGRA-013 25:21 DOG GEAR-HELICAL-RATIO ¥50,600 ¥54,648
FGRA-009/010H-23:24 DOG GEAR -HELICAL-RATIO ¥50,600 ¥54,648
FGTR-SEQ-030 GTR 1ST/2ND SELECTOR FORK ¥49,900 ¥53,892
FGTR-SEQ-031 GTR 3RD/4TH SELECTOR FORK ¥49,900 ¥53,892
FGTR-SEQ-032 GTR 5TH/6TH SELECTOR FORK ¥49,900 ¥53,892
FSG-001-33:14 DOG GEAR-SPUR-RATIO (33-14) ¥49,900 ¥53,892
FSG-001-30:17 DOG GEAR-SPUR-RATIO (30-17) ¥49,900 ¥53,892
FSG-001-28:19 DOG GEAR-SPUR-RATIO (28-19) ¥49,900 ¥53,892
FSG-001-26:21 DOG GEAR-SPUR-RATIO (26:21) ¥49,900 ¥53,892
FGRA-005 GRA FRONT COVER ¥47,700 ¥51,516
FGRA-007X GRA SELECTOR FORK ¥47,700 ¥51,516
FGRA-008X GRA SELECTOR FORK ¥47,700 ¥51,516
FRD6-067 SPIRAL ACTUATOR ¥47,700 ¥51,516
FRD6-067 SPIRAL ACTUATOR ¥47,700 ¥51,516
FGRA-007X GRA SELECTOR FORK ¥47,700 ¥51,516
FGRA-008X GRA SELECTOR FORK ¥47,700 ¥51,516
FGRA-005 GRA FRONT COVER ¥47,700 ¥51,516
FGRA-007X GRA SELECTOR FORK ¥47,700 ¥51,516

2/12



品番 商品内容１ 税抜定価 税込定価

2016.3.2
株式会社　東名パワード

HOLINGER 価格表

FGRA-008X GRA SELECTOR FORK ¥47,700 ¥51,516
FH6S-016 MAINSHAFT REVERSE GEAR ¥45,600 ¥49,248
FRD6-069 SELECTOR RING 6 DOG ¥45,600 ¥49,248
FH6S-016 MAINSHAFT REVERSE GEAR ¥45,600 ¥49,248
FSG-013 SELECTOR RING 6 DOG ¥45,600 ¥49,248
FH6S-016 MAINSHAFT REVERSE GEAR ¥45,600 ¥49,248
FGTR-SEQ-012 NEUTRAL LOCKOUT ACTUATOR ¥44,800 ¥48,384
FGTR-SEQ-035 REVERSE IDLER GEAR ¥44,800 ¥48,384
FGTR-SEQ-035 REVERSE IDLER GEAR ¥44,800 ¥48,384
FGTR-SEQ-035 REVERSE IDLER GEAR ¥44,800 ¥48,384
FGTR-SEQ-035 REVERSE IDLER GEAR ¥44,800 ¥48,384
FGTR-SEQ-035 REVERSE IDLER GEAR ¥44,800 ¥48,384
FH6S-111 PENT SIX DOG SELECTOR RING ¥43,400 ¥46,872
FGRA-6N-018 REVERSE GEAR-MAIN SHAFT ¥43,400 ¥46,872
FHTA-036 LAYSHAFT REVERSE GEAR ¥43,400 ¥46,872
FGTR-SEQ-008 SPIRAL ACTUATOR ¥42,700 ¥46,116
FH6S-SEQ-006 SPIRAL ACTUATOR ¥41,200 ¥44,496
FH6S-SEQ-006 SPIRAL ACTUATOR ¥41,200 ¥44,496
FGTR-SEQ-020 3RD/4TH CAM FOLLOWER ¥39,800 ¥42,984
FH6S-SEQ-004 GEAR CHANGE QUADRANT ¥39,800 ¥42,984
FH6S-SEQ-004 GEAR CHANGE QUADRANT ¥39,800 ¥42,984
FH6S-SEQ-004 GEAR CHANGE QUADRANT ¥39,800 ¥42,984
FH6S-SEQ-004 GEAR CHANGE QUADRANT ¥39,800 ¥42,984
FGRA-014 SELECTOR RING　8dogs ¥39,000 ¥42,120
FGTR-SEQ-019 REVERSE CAM FOLLOWER ¥38,300 ¥41,364
FRD6-022 OIL PUMP HOUSING ¥37,600 ¥40,608
FRD6-022 OIL PUMP HOUSING ¥37,600 ¥40,608
FH6S-DV-016 HUB 1ST-2ND ¥37,300 ¥40,284
FH6S-DV-017 HUB 5TH-6TH ¥37,300 ¥40,284
FH6S-106GS-14:33 SPLINE GEAR-GROUND SPUR-RATIO (14-33) ¥36,200 ¥39,096
FH6S-105GS-17:31 SPLINE GEAR-GROUND SPUR-RATIO (17-31) ¥36,200 ¥39,096
FH6S-107GS-19:29 SPLINE GEAR-GROUND SPUR-RATIO (19-29) ¥36,200 ¥39,096
FH6S-108GS-21:26 SPLINE GEAR-GROUND SPUR-RATIO (21-26) ¥36,200 ¥39,096
FH6S-108GS-23:24 SPLINE GEAR-GROUND SPUR-RATIO (23-24) ¥36,200 ¥39,096
FH6S-109GS-24:22 DROP GEAR- GROUND SPUR-RATIO(24-22) ¥36,200 ¥39,096
FHTA-015GS-14:33 SPLINE GEAR-GROUND SPUR-RATIO(14:33) ¥36,200 ¥39,096
FHTA-015GS-17:31 SPLINE GEAR-GROUND SPUR-RATIO(17:31) ¥36,200 ¥39,096
FHTA-013GS-19:28 SPLINE GEAR-GROUND SPUR-RATIO(19:28) ¥36,200 ¥39,096
FHTA-013GS-21:26 SPLINE GEAR-GROUND SPUR-RATIO(21:26) ¥36,200 ¥39,096
FHTA-013GS-23:24 SPLINE GEAR-GROUND SPUR-RATIO(23:24) ¥36,200 ¥39,096
FHTA-012GS-24:22 DROP GEAR-GROUND SPUR-RATIO(24-22) ¥36,200 ¥39,096
FH6S-DV-006 SELECTOR ROD 3RD-4TH ¥36,200 ¥39,096
FH6S-004 REVERSE LEVER ACTUATOR ¥34,700 ¥37,476
FH6S-010 ROD END REVERSE ¥34,700 ¥37,476
FHLE-101-17:25 SPLINE GEAR-SPUR (17:25)(1.471) (V2) ¥34,700 ¥37,476
FHLE-101-18:20 SPLINE GEAR-SPUR (18:20)(1.111) (V2) ¥34,700 ¥37,476
FHLE-101-28:24 SPLINE GEAR-SPUR (28:24)(0.857) (V2) ¥34,700 ¥37,476
FHLE-104 REVERSE IDLER GEAR (V2) ¥34,700 ¥37,476
FH6S-013 SELECTOR HOUSING CUP ¥34,000 ¥36,720
FGTR-SEQ-009 GEAR LEVER ROD ¥34,000 ¥36,720
FH6S-013 SELECTOR HOUSING CUP ¥34,000 ¥36,720
FSG-015 1ST GEAR BEARING SLEEVE ¥34,000 ¥36,720
FH6S-013 SELECTOR HOUSING CUP ¥34,000 ¥36,720
FH6S-013 SELECTOR HOUSING CUP ¥34,000 ¥36,720
FGTR-SEQ-040 5TH/6TH SELECTOR HUB ¥32,500 ¥35,100
FGTR-SEQ-041 3RD/4TH SELECTOR HUB ¥32,500 ¥35,100
FGTR-SEQ-042 1ST/2ND SELECTOR HUB ¥32,500 ¥35,100
FRD6-072 3RD/4TH SELECTOR ROD ¥32,500 ¥35,100
FH6S-SEQ-005 GUIDE BLOCK ¥31,800 ¥34,344
FH6S-SEQ-005 GUIDE BLOCK ¥31,800 ¥34,344
FH6S-SEQ-005 GUIDE BLOCK ¥31,800 ¥34,344
FH6S-SEQ-005 GUIDE BLOCK ¥31,800 ¥34,344
FHLE-121 1ST / 2ND SELECTOR ROD (V2) ¥31,200 ¥33,696
FHLE-122 3RD / 4TH SELECTOR ROD (V2) ¥31,200 ¥33,696
FHLE-123 5TH / REV SELECTOR ROD (V2) ¥31,200 ¥33,696
FH6S-DV-024-15:33 SPLINE GEAR-SPUR-RATIO (15-33) ¥31,200 ¥33,696
FH6S-DV-025-19:29 SPLINE GEAR-SPUR-RATIO (19-29) ¥31,200 ¥33,696
FH6S-DV-026-21:25 SPLINE GEAR-SPUR-RATIO (21-25) ¥31,200 ¥33,696
FH6S-DV-027-26:21 SPLINE GEAR-SPUR-RATIO (26-21) ¥31,200 ¥33,696
FH6S-DV-028-28:20 SPLINE GEAR-SPUR-RATIO (28:20) ¥31,200 ¥33,696
FH6S-DV-023-24:23 DROP GEAR-SPUR-RATIO(24-23) ¥31,200 ¥33,696
FH6S-100 HUB 1ST-2ND/6 DOG ¥31,100 ¥33,588
FH6S-101 HUB 3RD-4TH/6 DOG ¥31,100 ¥33,588
FH6S-102 HUB 5TH-6TH/6 DOG ¥31,100 ¥33,588
FGTR-SEQ-010 INTERMEDIATE ROD ¥31,100 ¥33,588
FHTA-022 3RD / 4TH SELECTOR HUB ¥31,100 ¥33,588
FHTA-023 1ST / 2ND SELECTOR HUB ¥31,100 ¥33,588
FH6S-SEQR-014 5TH / 6TH SELECTOR HUB ¥31,100 ¥33,588
FH6S-SEQR-015 3RD / 4TH SELECTOR HUB ¥31,100 ¥33,588
FH6S-SEQR-016 1ST / 2ND SELECTOR HUB ¥31,100 ¥33,588
FGRA-6N-011 REVERSE GEAR - LAY SHAFT ¥30,400 ¥32,832

3/12



品番 商品内容１ 税抜定価 税込定価

2016.3.2
株式会社　東名パワード

HOLINGER 価格表

FGTR-SEQ-005 1ST/2ND SELECTOR ROD ¥30,400 ¥32,832
FGTR-SEQ-053-26:22 DROP GEAR-HELICAL-RATIO (26:22) ¥30,400 ¥32,832
FHLE-108 1ST/2ND & 3RD/4TH SELECTOR HUB (V2) ¥30,400 ¥32,832
FHLE-112 5TH / REV  SELECTOR HUB (V2) ¥30,400 ¥32,832
FRD6-017 OIL FILTER CAP ¥30,400 ¥32,832
FRD6-063 REVERSE CAM FOLLOWER ¥30,400 ¥32,832
FRD6-064 1ST / 2ND CAM FOLLOWER ¥30,400 ¥32,832
FRD6-065 5TH / 6TH CAM FOLLOWER ¥30,400 ¥32,832
FRD6-017 OIL FILTER CAP ¥30,400 ¥32,832
FRD6-063 REVERSE CAM FOLLOWER ¥30,400 ¥32,832
FRD6-064 1ST / 2ND CAM FOLLOWER ¥30,400 ¥32,832
FRD6-065 5TH / 6TH CAM FOLLOWER ¥30,400 ¥32,832
FSG-004 5TH / 6TH SELECTOR HUB ¥30,400 ¥32,832
FSG-005 1ST / 2ND & 3RD / 4TH SELECTOR HUB ¥30,400 ¥32,832
FSG-018 5TH/6TH SELECTOR ROD ¥30,400 ¥32,832
FSG-019 3RD/4TH SELECTOR ROD ¥30,400 ¥32,832
FSG-020 1ST/2ND SELECTOR ROD ¥30,400 ¥32,832
FSG-016-14:33 SPLINE GEAR-SPUR-RATIO (14-33) ¥30,400 ¥32,832
FH6S-SEQ-020 SELECTOR ROD - 3RD-4TH ¥30,400 ¥32,832
FH6S-020 LAYSHAFT REVERSE GEAR ¥28,900 ¥31,212
FGTR-SEQ-057-14:34 SPLINE GEAR-HELICAL-RATIO (14-34) ¥28,900 ¥31,212
FGTR-SEQ-058-17:31 SPLINE GEAR-HELICAL-RATIO (17:31) ¥28,900 ¥31,212
FGTR-SEQ-055-20:27 SPLINE GEAR-HELICAL-RATIO (20-27) ¥28,900 ¥31,212
FGTR-SEQ-056-23:24 SPLINE GEAR-HELICAL-RATIO (23-24) ¥28,900 ¥31,212
FGTR-SEQ-055-27:20 SPLINE GEAR-HELICAL-RATIO (27-20) ¥28,900 ¥31,212
FPCS-050 GEAR POSITION POTENTIOMETER ¥28,900 ¥31,212
FPCS-050 GEAR POSITION POTENTIOMETER ¥28,900 ¥31,212
FSG-008-25:22 DROP GEAR-SPUR-RATIO (25-22) ¥28,900 ¥31,212
FH6S-020 LAYSHAFT REVERSE GEAR ¥28,900 ¥31,212
FH6S-DV-031 SLEEVE 2ND GEAR MAINSHAFT ¥28,900 ¥31,212
FH6S-DV-032 SLEEVE 1ST GEAR MAINSHAFT ¥28,900 ¥31,212
FH6S-020 LAYSHAFT REVERSE GEAR ¥28,900 ¥31,212
FGRA-6N-013H-14:33 SPLINE GEAR -HELICAL-RATIO (14-33) ¥28,900 ¥31,212
FH6S-022H-17:31 SPLINE GEAR 2ND-HELICAL-RATIO (17-31) ¥28,900 ¥31,212
FH6S-024H-19:29 SPLINE GEAR 3RD-HELICAL-RATIO (19-29) ¥28,900 ¥31,212
FGRA-033H-21:26 SPLINE GEAR-HELICAL-RATIO (21-26) ¥28,900 ¥31,212
FGRA-033H-23:24 SPLINE GEAR-HELICAL-RATIO (23-24) ¥28,900 ¥31,212
FGRA-035H-24:22 SPLINE GEAR-C/MESH-HELICAL-RATIO(24-22) ¥28,900 ¥31,212
FGTR-SEQ-006 5TH/6TH SELECTOR ROD ¥28,200 ¥30,456
FGTR-SEQ-024 NEUTRAL LOCKOUT LATCH ¥28,200 ¥30,456
FGTR-SEQ-025 NEUTRAL LOCKOUT STRIKER ¥28,200 ¥30,456
FSG-021 LAYSHAFT REVERSE GEAR ¥27,500 ¥29,700
FSG-006-17:30 SPLINE GEAR-SPUR-RATIO (17-30) ¥27,500 ¥29,700
FSG-006-19:28 SPLINE GEAR-SPUR-RATIO (19-28) ¥27,500 ¥29,700
FSG-006-21:26 SPLINE GEAR-SPUR-RATIO (21-26) ¥27,500 ¥29,700
FSG-006-23:25 SPLINE GEAR-SPUR-RATIO (23-25) ¥27,500 ¥29,700
FSG-006-24:23 SPLINE GEAR-SPUR-RATIO (24-23) ¥27,500 ¥29,700
FH6S-114 SELECTOR ROD 3RD-4TH/6 DOG ¥26,800 ¥28,944
FH6S-115 SELECTOR ROD 5TH-6TH/6 DOG ¥26,800 ¥28,944
FRD6-074 5TH/6TH SELECTOR ROD ¥26,800 ¥28,944
FSG-009 2ND/5TH & 3RD/6TH BEARING SLEEVE ¥26,800 ¥28,944
FH6S-SEQ-017 SPIRAL ACTUATOR CENTRALISING STOP ¥26,000 ¥28,080
FH6S-SEQ-017 SPIRAL ACTUATOR CENTRALISING STOP ¥26,000 ¥28,080
FH6S-SEQ-008 5TH / 6TH CAM FOLLOWER ¥26,000 ¥28,080
FH6S-SEQ-009 1ST / 2ND CAM FOLLOWER ¥26,000 ¥28,080
FH6S-SEQ-010 REVERSE CAM FOLLOWER ¥26,000 ¥28,080
FH6S-SEQ-017 SPIRAL ACTUATOR CENTRALISING STOP ¥26,000 ¥28,080
FH6S-SEQ-008 5TH / 6TH CAM FOLLOWER ¥26,000 ¥28,080
FH6S-SEQ-009 1ST / 2ND CAM FOLLOWER ¥26,000 ¥28,080
FH6S-SEQ-010 REVERSE CAM FOLLOWER ¥26,000 ¥28,080
FH6S-003 REVERSE LEVER ¥25,300 ¥27,324
FGRA-6N-005 COVER - REAR CASE ¥25,300 ¥27,324
FGRA-6N-026 REVERSE LEVER ¥25,300 ¥27,324
FH6S-003 REVERSE LEVER ¥25,300 ¥27,324
FHTA-021 MAINSHAFT 1ST GEAR BRG SLEEVE ¥25,300 ¥27,324
FRD6-066 CAMSHAFT STOP PLATE ¥25,300 ¥27,324
FH6S-003 REVERSE LEVER ¥25,300 ¥27,324
FRD6-066 CAMSHAFT STOP PLATE ¥25,300 ¥27,324
FH6S-DV-030 SLEEVE 3RD GEAR MAINSHAFT ¥25,300 ¥27,324
FH6S-003 REVERSE LEVER ¥25,300 ¥27,324
FH6S-DV-007 SELECTOR ROD 5TH-6TH ¥25,200 ¥27,216
FGTR-SEQ-004 3RD/4TH SELECTOR ROD ¥23,900 ¥25,812
FGTR-SEQ-033 REVERSE ROD END ¥23,900 ¥25,812
FHLE-103 INPUTSHAFT NUT (V2) ¥23,100 ¥24,948
FRD6-020 OIL PUMP SPINDLE ¥23,100 ¥24,948
FRD6-020 OIL PUMP SPINDLE ¥23,100 ¥24,948
FH6S-117 ROD END 1ST-2ND/6 DOG ¥22,400 ¥24,192
FH6S-118 ROD END 5TH-6TH/6 DOG ¥22,400 ¥24,192
FGTR-SEQ-007 REVERSE SELECTOR ROD ¥22,400 ¥24,192
FH6S-SEQ-021 SELECTOR ROD - 5TH-6TH ¥22,400 ¥24,192
FGTR-SEQ-022 CAMSHAFT STOP PLATE ¥21,700 ¥23,436

4/12



品番 商品内容１ 税抜定価 税込定価

2016.3.2
株式会社　東名パワード

HOLINGER 価格表

FGTR-SEQ-063-01 STANDARD CLUTCH THROW OUT SLEEVE ¥21,700 ¥23,436
FJ6S-112 J6S GEAR POSITION SWITCH ¥21,700 ¥23,436
R104-357223NJ NJ2207E C3  ROLLER BEARING ¥21,700 ¥23,436
FRD6-021 OIL PUMP COVER ¥21,700 ¥23,436
FRD6-075 CAMSHAFT BLOCKING PLATE ¥21,700 ¥23,436
FRD6-021 OIL PUMP COVER ¥21,700 ¥23,436
FRD6-075 CAMSHAFT BLOCKING PLATE ¥21,700 ¥23,436
FH6S-SEQ-007 CAMSHAFT STOP PLATE ¥21,700 ¥23,436
FH6S-DV-063 CAMSHAFT BLOCKOUT WASHER ¥21,700 ¥23,436
FH6S-SEQ-007 CAMSHAFT STOP PLATE ¥21,700 ¥23,436
FH6S-113 SELECTOR ROD 1ST-2ND/6 DOG ¥21,000 ¥22,680
FH6S-116 ROD END 3RD-4TH/6 DOG ¥21,000 ¥22,680
FGTR-SEQ-013 INTERMEDIATE ROD GUIDE ¥21,000 ¥22,680
FHTA-019 MAINSHAFT 3RD GEAR BRG SLEEVE ¥21,000 ¥22,680
FHTA-020 MAINSHAFT 2ND GEAR BRG SLEEVE ¥21,000 ¥22,680
FH6S-SEQR-026 GEAR POSITION INDICATOR MOTEC ¥21,000 ¥22,680
FHDB-033 REVERSE LEVER ¥21,000 ¥22,680
FH6S-SEQ-019 SELECTOR ROD - 1ST-2ND ¥21,000 ¥22,680
FGTR-SEQ-014 REVERSE SELECTOR ROD GUIDE ¥20,200 ¥21,816
FHLE-107 1ST GEAR BRG SLEEVE (V2) ¥20,200 ¥21,816
FHLE-109 2ND/3RD GEAR BRG SLEEVE (V2) ¥20,200 ¥21,816
FHLE-110 4TH GEAR BRG SLEEVE (V2) ¥20,200 ¥21,816
FHLE-111 5TH GEAR BRG SLEEVE (V2) ¥20,200 ¥21,816
FHLE-113 REVERSE GEAR BRG SLEEVE (V2) ¥20,200 ¥21,816
FGTR-SEQ-026 NEUTRAL LOCKOUT ROD ¥19,500 ¥21,060
FRD6-073 1ST/2ND SELECTOR ROD ¥19,500 ¥21,060
FH6S-DV-005 SELECTOR ROD 1ST-2ND ¥19,100 ¥20,628
FH6S-008 SELECTOR ROD REVERSE ¥18,100 ¥19,548
FRD6-062 CAMSHAFT SPINDLE ¥18,100 ¥19,548
FH6S-014 SELECTOR HOUSING CAP ¥17,400 ¥18,792
FHLE-102 3RD/4TH INPUTSHAFT SPACER (V2) ¥17,400 ¥18,792
FH6S-014 SELECTOR HOUSING CAP ¥17,400 ¥18,792
FSG-011 LAYSHAFT SPACER LONG ¥17,400 ¥18,792
FH6S-014 SELECTOR HOUSING CAP ¥17,400 ¥18,792
FH6S-014 SELECTOR HOUSING CAP ¥17,400 ¥18,792
FSG-010 LAYSHAFT SPACER SHORT ¥16,600 ¥17,928
FH6S-017 SLEEVE 1ST GEAR-M/SHAFT ¥15,900 ¥17,172
FGTR-SEQ-052 MAINSHAFT 2ND GEAR BEARING SLEEVE ¥15,900 ¥17,172
FRD6-082 NEUTRAL LOCKOUT LATCH ¥15,900 ¥17,172
FZ-028 LAYSHAFT  SPACER ¥15,900 ¥17,172
FR-109 HML GEAR INDICATOR SWITCH ¥15,900 ¥17,172
FH6S-017 SLEEVE 1ST GEAR-M/SHAFT ¥15,900 ¥17,172
FR-109 HML GEAR INDICATOR SWITCH ¥15,900 ¥17,172
FH6S-018 SLEEVE 2ND GEAR-M/SHAFT ¥15,200 ¥16,416
FGTR-SEQ-051 MAINSHAFT 1ST GEAR BEARING SLEEVE ¥15,200 ¥16,416
FH6S-018 SLEEVE 2ND GEAR-M/SHAFT ¥15,200 ¥16,416
FGTR-SEQ-050 MAINSHAFT 4TH GEAR BEARING SLEEVE ¥14,500 ¥15,660
FHDB-024 REVERSE IDLER SPINDLE ¥14,500 ¥15,660
FHDB-024 REVERSE IDLER SPINDLE ¥14,500 ¥15,660
FH6S-DV-042 SPACER 5TH-6TH LAY SHAFT ¥13,900 ¥15,012
FH6S-DV-043 SPACER CM 3RD LAYSHAFT ¥13,900 ¥15,012
FGRA-018 SLEEVE 2ND GEAR - MAIN SHAFT ¥13,700 ¥14,796
FGTR-SEQ-029 GEAR LEVER ROD CONNECTOR ¥13,700 ¥14,796
R104-357217NJ NJ207E C3  ROLLER BEARING ¥13,700 ¥14,796
R104-358021NJ NJ307E C3  ROLLER BEARING ¥13,700 ¥14,796
R104-357217NJ NJ207E C3  ROLLER BEARING ¥13,700 ¥14,796
FHTA-018 LAYSHAFT CM SPACER ¥13,700 ¥14,796
R104-357217NJ NJ207E C3  ROLLER BEARING ¥13,700 ¥14,796
R104-357217NJ NJ207E C3  ROLLER BEARING ¥13,700 ¥14,796
FGRA-018 SLEEVE 2ND GEAR - MAIN SHAFT ¥13,700 ¥14,796
FGRA-6N-012 RETAINING WASHER REV GEAR L/SH ¥13,000 ¥14,040
FGRA-6N-012 RETAINING WASHER REV GEAR L/SH ¥13,000 ¥14,040
FGRA-6N-012 RETAINING WASHER REV GEAR L/SH ¥13,000 ¥14,040
FGRA-6N-012 RETAINING WASHER REV GEAR L/SH ¥13,000 ¥14,040
FGRA-041 RETAINING WASHER 4/5 5/6 HUB ¥12,300 ¥13,284
FH6S-015 OUTPUT FLANGE SPACER ¥12,300 ¥13,284
FGRA-041 RETAINING WASHER 4/5 5/6 HUB ¥12,300 ¥13,284
FH6S-SEQ-014 CAMSHAFT DETENT PLUNGER ¥12,300 ¥13,284
FH6S-SEQ-014 CAMSHAFT DETENT PLUNGER ¥12,300 ¥13,284
FHTA-017 LAYSHAFT 1ST/2ND SPACER ¥12,300 ¥13,284
FRD6-016 REVERSE IDLER & ACTUATOR SPINDLE ¥12,300 ¥13,284
FH6S-SEQ-014 CAMSHAFT DETENT PLUNGER ¥12,300 ¥13,284
FRD6-016 REVERSE IDLER & ACTUATOR SPINDLE ¥12,300 ¥13,284
FH6S-SEQ-014 CAMSHAFT DETENT PLUNGER ¥12,300 ¥13,284
FGRA-041 RETAINING WASHER 4/5 5/6 HUB ¥12,300 ¥13,284
FH6S-015 OUTPUT FLANGE SPACER ¥12,300 ¥13,284
FH6S-SEQ-014 CAMSHAFT DETENT PLUNGER ¥12,300 ¥13,284
FGTR-SEQ-015 GUIDE SPIGOT ¥11,600 ¥12,528
FH6S-DV-044 BEARING SPACER LAY SHAFT ¥11,600 ¥12,528
FZ-092 PAWL - RATCHET ¥11,600 ¥12,528
FZ-092 PAWL - RATCHET ¥11,600 ¥12,528

5/12



品番 商品内容１ 税抜定価 税込定価

2016.3.2
株式会社　東名パワード

HOLINGER 価格表

FH6S-DV-041 SPACER 1ST-2ND LAY SHAFT ¥11,600 ¥12,528
FH6S-DV-044 BEARING SPACER LAY SHAFT ¥11,600 ¥12,528
FHDB-025 REVERSE CAM FOLLOWER SPINDLE ¥11,600 ¥12,528
FZ-092 PAWL - RATCHET ¥11,600 ¥12,528
FHDB-025 REVERSE CAM FOLLOWER SPINDLE ¥11,600 ¥12,528
FZ-092 PAWL - RATCHET ¥11,600 ¥12,528
FGRA-050 SEAL CARRIER ¥10,800 ¥11,664
FGRA-070 MAIN SHAFT BEARING ¥10,800 ¥11,664
FGRA-6N-010 INNER RACE LAYSHAFT ¥10,800 ¥11,664
FGRA-6N-027 REVERSE LEVER PIVOT ¥10,800 ¥11,664
FGRA-070 MAIN SHAFT BEARING ¥10,800 ¥11,664
FGRA-6N-010 INNER RACE LAYSHAFT ¥10,800 ¥11,664
FGRA-6N-010 INNER RACE LAYSHAFT ¥10,800 ¥11,664
FGRA-6N-027 REVERSE LEVER PIVOT ¥10,800 ¥11,664
FGRA-6N-027 REVERSE LEVER PIVOT ¥10,800 ¥11,664
FGRA-6N-010 INNER RACE LAYSHAFT ¥10,800 ¥11,664
FGRA-6N-027 REVERSE LEVER PIVOT ¥10,800 ¥11,664
FGRA-050 SEAL CARRIER ¥10,800 ¥11,664
FGRA-070 MAIN SHAFT BEARING ¥10,800 ¥11,664
FGRA-6N-010 INNER RACE LAYSHAFT ¥10,800 ¥11,664
FGRA-6N-027 REVERSE LEVER PIVOT ¥10,800 ¥11,664
FGTR-SEQ-021 GTR RATCHET PAWL ¥10,600 ¥11,448
FH6S-DV-004 NUT - MAINSHAFT ¥10,400 ¥11,232
FGRA-068 INPUT SHAFT BEARING ¥10,100 ¥10,908
FGRA-068 INPUT SHAFT BEARING ¥10,100 ¥10,908
R104-307219NJ NJ 306 EC3 ROLLER BEARING ¥10,100 ¥10,908
FRD6-037 MAINSHAFT OUTPUT SPACER ¥10,100 ¥10,908
FSG-028 MAIN SHAFT NUT (SLIP YOKE) ¥10,100 ¥10,908
FGRA-068 INPUT SHAFT BEARING ¥10,100 ¥10,908
FGRA-036 NUT MAIN SHAFT ¥8,700 ¥9,396
FH6S-031 LAYSHAFT NUT ¥8,700 ¥9,396
FGRA-6N-021S MAIN SHAFT NUT ¥8,700 ¥9,396
FH6S-031 LAYSHAFT NUT ¥8,700 ¥9,396
FH6S-SEQ-022 GEAR INDICATOR CONTACT BRUSH ¥8,700 ¥9,396
FGRA-036 NUT MAIN SHAFT ¥8,700 ¥9,396
FHTA-038 LAYSHAFT NUT ¥8,700 ¥9,396
FHTA-057 LAYSHAFT 3RD/4TH SPACER ¥8,700 ¥9,396
FHTA-038 LAYSHAFT NUT ¥8,700 ¥9,396
FH6S-SEQ-022 GEAR INDICATOR CONTACT BRUSH ¥8,700 ¥9,396
FGRA-036 NUT MAIN SHAFT ¥8,700 ¥9,396
FH6S-031 LAYSHAFT NUT ¥8,700 ¥9,396
FH6S-SEQ-022 GEAR INDICATOR CONTACT BRUSH ¥8,700 ¥9,396
R104-306216NJ NJ206 ROLLER BEARING ¥8,500 ¥9,180
FGRA-051 SLEEVE - DETENT BALL ¥8,000 ¥8,640
FH6S-035 PLUNGER, LONG-SEL. HOUSING ¥8,000 ¥8,640
FGRA-6N-036 SLEEVE - DETENT BALL SHORT ¥8,000 ¥8,640
FGRA-6N-037 SLEEVE - DETENT BALL LONG ¥8,000 ¥8,640
R104-255218NJ NJ2205 E C3 ROLLER BEARING ¥8,000 ¥8,640
R108-425220 NK42/20  NEEDLE BEARING ¥7,700 ¥8,316
R108-425220 NK42/20  NEEDLE BEARING ¥7,700 ¥8,316
R108-425220 NK42/20  NEEDLE BEARING ¥7,700 ¥8,316
R108-425220 NK42/20  NEEDLE BEARING ¥7,700 ¥8,316
R108-425220 NK42/20  NEEDLE BEARING ¥7,700 ¥8,316
FGRA-028 SPACER CM - 4TH - LAYSHAFT ¥7,200 ¥7,776
FGRA-063 DRAIN PLUG ¥7,200 ¥7,776
FH6S-036 PLUNGER, SHORT-SEL. HOUSING ¥7,200 ¥7,776
FGRA-063 DRAIN PLUG ¥7,200 ¥7,776
FGTR-SEQ-047 LAYSHAFT DROP GEAR SPACER ¥7,200 ¥7,776
FGTR-SEQ-048 LAYSHAFT 1ST/2ND SPACER ¥7,200 ¥7,776
R108-354530 NK 35/30  NEEDLE BEARING ¥7,200 ¥7,776
FGRA-063 DRAIN PLUG ¥7,200 ¥7,776
FH6S-SEQ-015 PLUNGER - NEUTRAL BLOCK OUT ¥7,200 ¥7,776
R108-354530 NK 35/30  NEEDLE BEARING ¥7,200 ¥7,776
FGRA-063 DRAIN PLUG ¥7,200 ¥7,776
FH6S-SEQ-015 PLUNGER - NEUTRAL BLOCK OUT ¥7,200 ¥7,776
FGRA-063 DRAIN PLUG ¥7,200 ¥7,776
FH6S-SEQ-015 PLUNGER - NEUTRAL BLOCK OUT ¥7,200 ¥7,776
FGRA-028 SPACER CM - 4TH - LAYSHAFT ¥7,200 ¥7,776
FGRA-063 DRAIN PLUG ¥7,200 ¥7,776
FH6S-SEQ-015 PLUNGER - NEUTRAL BLOCK OUT ¥7,200 ¥7,776
FH6S-SEQ-023 NEUTRAL BLOCKOUT LATCH ¥7,200 ¥7,776
R106-455027 K45X50X27 NEEDLE CAGE ¥6,900 ¥7,452
R106-455321 K45X53X21 NEEDLE CAGE ¥6,900 ¥7,452
FJ6S-077 ROTOR PAIR-PRESSURE (Z-077) ¥6,900 ¥7,452
FJ6S-077 ROTOR PAIR-PRESSURE (Z-077) ¥6,900 ¥7,452
FGRA-083 GEAR LEVER BOOT ¥6,500 ¥7,020
FGRA-6N-016 SPACER 1ST-2ND L/SHAFT ¥6,500 ¥7,020
FGRA-6N-060 TOP SPRING PLATE ¥6,500 ¥7,020
FGRA-6N-038 SPRING PLATE ¥6,500 ¥7,020
FGRA-6N-060 TOP SPRING PLATE ¥6,500 ¥7,020
FGTR-SEQ-037 SPIRAL ACTUATOR COVER ¥6,500 ¥7,020

6/12



品番 商品内容１ 税抜定価 税込定価

2016.3.2
株式会社　東名パワード

HOLINGER 価格表

FGTR-SEQ-060 NEUTRAL/REVERSE PLUNGER ¥6,500 ¥7,020
FGTR-SEQ-061 FIXED PLUNGER ¥6,500 ¥7,020
FGTR-SEQ-064 SPIRAL ACTUATOR CROSS PIN ¥6,500 ¥7,020
FGRA-6N-060 TOP SPRING PLATE ¥6,500 ¥7,020
FGRA-083 GEAR LEVER BOOT ¥6,500 ¥7,020
FSG-022 LAYSHAFT ENDFLOAT SPACER/SHIM ¥6,500 ¥7,020
FGRA-083 GEAR LEVER BOOT ¥6,500 ¥7,020
FGRA-6N-060 TOP SPRING PLATE ¥6,500 ¥7,020
FGRA-083 GEAR LEVER BOOT ¥6,500 ¥7,020
FGRA-6N-016 SPACER 1ST-2ND L/SHAFT ¥6,500 ¥7,020
FGRA-6N-060 TOP SPRING PLATE ¥6,500 ¥7,020
R112-2035 K81104 ROLLER THRUST BEARING ¥6,100 ¥6,588
R112-2035 K81104 ROLLER THRUST BEARING ¥6,100 ¥6,588
R106-424727 K42X47X27 NEEDLE CAGE ¥5,500 ¥5,940
R106-424727 K42X47X27 NEEDLE CAGE ¥5,500 ¥5,940
R106-424730 K42X47X30 NEEDLE CAGE ¥5,500 ¥5,940
R106-424727 K42X47X27 NEEDLE CAGE ¥5,500 ¥5,940
R106-424727 K42X47X27 NEEDLE CAGE ¥5,500 ¥5,940
R106-424727 K42X47X27 NEEDLE CAGE ¥5,500 ¥5,940
R106-424727 K42X47X27 NEEDLE CAGE ¥5,500 ¥5,940
FH6S-DV-039 SANDWICH PLATE BEARING SPACER/SHIM ¥5,400 ¥5,832
FH6S-DV-040 BEARING SPACER INPUT SHAFT ¥5,400 ¥5,832
FH6S-DV-040 BEARING SPACER INPUT SHAFT ¥5,400 ¥5,832
FH6S-DV-039 SANDWICH PLATE BEARING SPACER/SHIM ¥5,400 ¥5,832
FH6S-DV-040 BEARING SPACER INPUT SHAFT ¥5,400 ¥5,832
FH6S-DV-029 SPACER- NEEDLE BEARING 5TH & 6 ¥5,200 ¥5,616
FGRA-052 INTERLOCK PLUNGER ¥5,100 ¥5,508
FGRA-061 SELECTOR CASE PLUG ¥5,100 ¥5,508
FGRA-065 LAYSHAFT BEARING SPACER/SHIM ¥5,100 ¥5,508
FGRA-066 INPUT SHAFT BEARING SPACER/SHIM ¥5,100 ¥5,508
FGRA-066A SANDWICH PLATE BEARING SPACER/SHIM ¥5,100 ¥5,508
FGRA-069 POCKET BEARING ¥5,100 ¥5,508
FGRA-071 LAYSHAFT BEARING ¥5,100 ¥5,508
FH6S-026 CAP-REVERSE SELECTOR ROD ¥5,100 ¥5,508
FH6S-029 REVERSE DETENT SPRING PLATE ¥5,100 ¥5,508
FH6S-030 SPHERICAL WASHER ¥5,100 ¥5,508
FGRA-061 SELECTOR CASE PLUG ¥5,100 ¥5,508
FGRA-069 POCKET BEARING ¥5,100 ¥5,508
FGRA-071 LAYSHAFT BEARING ¥5,100 ¥5,508
FGTR-SEQ-070 INPUT SHAFT BEARING SPACER/SHIM ¥5,100 ¥5,508
FGTR-SEQ-071 LAYSHAFT BEARING SPACER/SHIM ¥5,100 ¥5,508
FGRA-061 SELECTOR CASE PLUG ¥5,100 ¥5,508
FHTA-075 LAYSHAFT BEARING SPACER ¥5,100 ¥5,508
R106-424717 K42X47X17 NEEDLE CAGE ¥5,100 ¥5,508
FGRA-061 SELECTOR CASE PLUG ¥5,100 ¥5,508
FH6S-030 SPHERICAL WASHER ¥5,100 ¥5,508
FGRA-061 SELECTOR CASE PLUG ¥5,100 ¥5,508
FH6S-030 SPHERICAL WASHER ¥5,100 ¥5,508
FGRA-061 SELECTOR CASE PLUG ¥5,100 ¥5,508
FGRA-065 LAYSHAFT BEARING SPACER/SHIM ¥5,100 ¥5,508
FGRA-066 INPUT SHAFT BEARING SPACER/SHIM ¥5,100 ¥5,508
FGRA-066A SANDWICH PLATE BEARING SPACER/SHIM ¥5,100 ¥5,508
FGRA-069 POCKET BEARING ¥5,100 ¥5,508
FGRA-071 LAYSHAFT BEARING ¥5,100 ¥5,508
FH6S-030 SPHERICAL WASHER ¥5,100 ¥5,508
FGTR-SEQ-023 CAM BEARING SPACER/SHIM ¥4,900 ¥5,292
R106-424713 K42X47X13 NEEDLE CAGE ¥4,300 ¥4,644
FGRA-042 4TH/5TH GEAR NEEDLE BRG SPACER ¥4,300 ¥4,644
FGTR-SEQ-034 NEEDLE BEARING SPACER ¥4,300 ¥4,644
FGTR-SEQ-065 SPIRAL ACTUATOR ROLLER ¥4,300 ¥4,644
R106-424713 K42X47X13 NEEDLE CAGE ¥4,300 ¥4,644
FHLE-124 NEEDLE BEARING SPACER (V2) ¥4,300 ¥4,644
FGTR-SEQ-034 NEEDLE BEARING SPACER ¥4,300 ¥4,644
FRD6-068 SPIRAL ACTUATOR CENTRALISING SPOOL ¥4,300 ¥4,644
FRD6-068 SPIRAL ACTUATOR CENTRALISING SPOOL ¥4,300 ¥4,644
FSG-023 MAINSHAFT BEARING SPACER/SHIM ¥4,300 ¥4,644
FSG-024 LAYSHAFT BEARING SPACER/SHIM ¥4,300 ¥4,644
R106-424713 K42X47X13 NEEDLE CAGE ¥4,300 ¥4,644
FGRA-042 4TH/5TH GEAR NEEDLE BRG SPACER ¥4,300 ¥4,644
FGRA-6N-028 REVERSE LEVER PIVOT-THRUST WASHER ¥4,000 ¥4,320
FGRA-6N-028 REVERSE LEVER PIVOT-THRUST WASHER ¥4,000 ¥4,320
FGRA-6N-028 REVERSE LEVER PIVOT-THRUST WASHER ¥4,000 ¥4,320
FGRA-6N-028 REVERSE LEVER PIVOT-THRUST WASHER ¥4,000 ¥4,320
FGRA-6N-028 REVERSE LEVER PIVOT-THRUST WASHER ¥4,000 ¥4,320
FH6S-DV-049 TAIL SHAFT BUSHING ¥4,000 ¥4,320
FGRA-6N-028 REVERSE LEVER PIVOT-THRUST WASHER ¥4,000 ¥4,320
R111-2035 LS2035 THRUST WASHER 2.75MM ¥3,900 ¥4,212
R111-2035 LS2035 THRUST WASHER 2.75MM ¥3,900 ¥4,212
R111-2035 LS2035 THRUST WASHER 2.75MM ¥3,900 ¥4,212
R111-2035 LS2035 THRUST WASHER 2.75MM ¥3,900 ¥4,212
FH6S-021 SPACER-REVERSE SELECTOR ¥3,600 ¥3,888

7/12



品番 商品内容１ 税抜定価 税込定価

2016.3.2
株式会社　東名パワード

HOLINGER 価格表

FH6S-120 SPACER - GEAR LEVER/6 DOG ¥3,600 ¥3,888
FGTR-SEQ-016 GUIDE SPIGOT RETAINING CAP ¥3,600 ¥3,888
FGTR-SEQ-017 CENTRALISATION WASHER ¥3,600 ¥3,888
FGTR-SEQ-018 CENTRALISATION SPACER ¥3,600 ¥3,888
R106-354216 K35X42X16 NEEDLE CAGE ¥3,500 ¥3,780
FRD6-070 CAM BEARING SPACER/SHIM ¥3,600 ¥3,888
R106-354216 K35X42X16 NEEDLE CAGE ¥3,500 ¥3,780
FRD6-070 CAM BEARING SPACER/SHIM ¥3,600 ¥3,888
R106-354216 K35X42X16 NEEDLE CAGE ¥3,500 ¥3,780
FH6S-DV-048 REAR SEAL ¥3,600 ¥3,888
R107-253220 HK2520 SHELL NEEDLE BEARING ¥3,300 ¥3,564
R111-1024 LS1024  THRUST WASHER 2.75MM ¥3,000 ¥3,240
R130-425507V M42X55X7 LIP SEAL (REAR-VITON) ¥3,000 ¥3,240
R111-1024 LS1024  THRUST WASHER 2.75MM ¥3,000 ¥3,240
R111-1024 LS1024  THRUST WASHER 2.75MM ¥3,000 ¥3,240
R111-1024 LS1024  THRUST WASHER 2.75MM ¥3,000 ¥3,240
FH6S-121 INTERLOCK PIN ¥2,900 ¥3,132
FH6S-SEQ-024 PAWL CARRIER BEARING SPACER/SHIM ¥2,900 ¥3,132
R103-203709 6904 DU BALL BEARING ¥2,900 ¥3,132
R130-354707V M35X47X7 LIP SEAL (FRONT-VITON) ¥2,900 ¥3,132
FH6S-SEQ-024 PAWL CARRIER BEARING SPACER/SHIM ¥2,900 ¥3,132
FH6S-SEQ-025 QUADRANT BEARING SPACER/SHIM ¥2,900 ¥3,132
R103-203709 6904 DU BALL BEARING ¥2,900 ¥3,132
FH6S-SEQ-024 PAWL CARRIER BEARING SPACER/SHIM ¥2,900 ¥3,132
FH6S-SEQ-025 QUADRANT BEARING SPACER/SHIM ¥2,900 ¥3,132
R103-203709 6904 DU BALL BEARING ¥2,900 ¥3,132
FH6S-SEQ-024 PAWL CARRIER BEARING SPACER/SHIM ¥2,900 ¥3,132
FH6S-SEQ-025 QUADRANT BEARING SPACER/SHIM ¥2,900 ¥3,132
FH6S-SEQR-005 CAM BEARING SPACER/SHIM ¥2,900 ¥3,132
R103-203709 6904 DU BALL BEARING ¥2,900 ¥3,132
FH6S-SEQ-024 PAWL CARRIER BEARING SPACER/SHIM ¥2,900 ¥3,132
FH6S-SEQ-025 QUADRANT BEARING SPACER/SHIM ¥2,900 ¥3,132
FH6S-SEQR-005 CAM BEARING SPACER/SHIM ¥2,900 ¥3,132
FH6S-040 LAYSHAFT BOLT ¥2,600 ¥2,808
R109-2035 AXK2035 THRUST BEARING ¥2,600 ¥2,808
R109-2035 AXK2035 THRUST BEARING ¥2,600 ¥2,808
R109-2035 AXK2035 THRUST BEARING ¥2,600 ¥2,808
FH6S-040 LAYSHAFT BOLT ¥2,600 ¥2,808
R109-2035 AXK2035 THRUST BEARING ¥2,600 ¥2,808
FH6S-040 LAYSHAFT BOLT ¥2,600 ¥2,808
FGRA-6N-029 REVERSE LEVER WASHER ¥2,500 ¥2,700
FGRA-6N-029 REVERSE LEVER WASHER ¥2,500 ¥2,700
FGRA-6N-029 REVERSE LEVER WASHER ¥2,500 ¥2,700
FGRA-6N-029 REVERSE LEVER WASHER ¥2,500 ¥2,700
FGRA-6N-029 REVERSE LEVER WASHER ¥2,500 ¥2,700
FGRA-6N-029 REVERSE LEVER WASHER ¥2,500 ¥2,700
R103-173510 6003  BALL BEARING ¥2,100 ¥2,268
R109-1024 AXK1024 THRUST BEARING ¥2,200 ¥2,376
R109-1024 AXK1024 THRUST BEARING ¥2,200 ¥2,376
R130-355011 M35X50X11 LIP SEAL ¥2,200 ¥2,376
R109-1024 AXK1024 THRUST BEARING ¥2,200 ¥2,376
R109-1024 AXK1024 THRUST BEARING ¥2,200 ¥2,376
R130-425507 M42X55X7 LIP SEAL (REAR) ¥2,000 ¥2,160
R103-153209 6002 BALL BEARING ¥2,000 ¥2,160
R103-153209 6002 BALL BEARING ¥2,000 ¥2,160
R103-153209 6002 BALL BEARING ¥2,000 ¥2,160
R103-153209 6002 BALL BEARING ¥2,000 ¥2,160
R103-153209 6002 BALL BEARING ¥2,000 ¥2,160
R130-425507 M42X55X7 LIP SEAL (REAR) ¥2,000 ¥2,160
R130-354707 M35X47X7 LIP SEAL (FRONT) ¥1,900 ¥2,052
R006-1257 M12X57 STUD ¥1,900 ¥2,052
R130-354707 M35X47X7 LIP SEAL (FRONT) ¥1,900 ¥2,052
R130-354707 M35X47X7 LIP SEAL (FRONT) ¥1,900 ¥2,052
R130-354707 M35X47X7 LIP SEAL (FRONT) ¥1,900 ¥2,052
R130-354707 M35X47X7 LIP SEAL (FRONT) ¥1,900 ¥2,052
R106-162017 K16X20X17 NEEDLE CAGE ¥1,700 ¥1,836
R106-162017 K16X20X17 NEEDLE CAGE ¥1,700 ¥1,836
R120-1620 MB1620 DU BUSH ¥1,700 ¥1,836
R106-162017 K16X20X17 NEEDLE CAGE ¥1,700 ¥1,836
R120-1620 MB1620 DU BUSH ¥1,700 ¥1,836
R106-162017 K16X20X17 NEEDLE CAGE ¥1,700 ¥1,836
R106-162017 K16X20X17 NEEDLE CAGE ¥1,700 ¥1,836
R121-0912 09DU12 DU BUSH ¥1,600 ¥1,728
R121-0912 09DU12 DU BUSH ¥1,600 ¥1,728
R120-1515 MB1515 DU BUSH ¥1,600 ¥1,728
R120-1515 MB1515 DU BUSH ¥1,600 ¥1,728
R121-0912 09DU12 DU BUSH ¥1,600 ¥1,728
R120-1515 MB1515 DU BUSH ¥1,600 ¥1,728
R121-0912 09DU12 DU BUSH ¥1,600 ¥1,728
R120-1515 MB1515 DU BUSH ¥1,600 ¥1,728
R107-152112 HK1512 SHELL NEEDLE BEARING ¥1,400 ¥1,512

8/12



品番 商品内容１ 税抜定価 税込定価

2016.3.2
株式会社　東名パワード

HOLINGER 価格表

R106-162013 K16X20X13 NEEDLE CAGE ¥1,400 ¥1,512
FGTR-SEQ-027 NEUTRAL LOCKOUT WASHER ¥1,400 ¥1,512
FGTR-SEQ-068 NEUTRAL LOCKOUT LATCH SPRING ¥1,400 ¥1,512
R006-0883 M8X83 STUD (ALL THREADED-RD6/HTA SP) ¥1,500 ¥1,620
R106-162013 K16X20X13 NEEDLE CAGE ¥1,400 ¥1,512
R185-01 GEARBOX BREATHER - BANJO ¥1,500 ¥1,620
FRD6-076 REAR CASE SEALING O RING ¥1,400 ¥1,512
R106-162013 K16X20X13 NEEDLE CAGE ¥1,400 ¥1,512
FRD6-076 REAR CASE SEALING O RING ¥1,400 ¥1,512
R106-162013 K16X20X13 NEEDLE CAGE ¥1,400 ¥1,512
R106-162013 K16X20X13 NEEDLE CAGE ¥1,400 ¥1,512
FGTR-SEQ-066 SPIRAL ACTUATOR WASHER ¥1,400 ¥1,512
R006-0870 M8X70 STUD ¥1,300 ¥1,404
R121-0908 09DU08 DU BUSH ¥1,300 ¥1,404
R006-0870 M8X70 STUD ¥1,300 ¥1,404
R006-0873 M8X73 STUD ¥1,300 ¥1,404
R006-08159 M8X159 STUD ¥1,300 ¥1,404
R103-103009 6200  BALL BEARING ¥1,200 ¥1,296
R120-1820 MB1820 DU BUSH ¥1,300 ¥1,404
R121-0908 09DU08 DU BUSH ¥1,300 ¥1,404
R006-0870 M8X70 STUD ¥1,300 ¥1,404
R120-1612 MB1612 DU BUSH ¥1,300 ¥1,404
R150-01 OIL FILTER ASSEMBLY ¥1,300 ¥1,404
R120-1612 MB1612 DU BUSH ¥1,300 ¥1,404
R150-01 OIL FILTER ASSEMBLY ¥1,300 ¥1,404
R121-0908 09DU08 DU BUSH ¥1,300 ¥1,404
R006-0870 M8X70 STUD ¥1,300 ¥1,404
R121-0908 09DU08 DU BUSH ¥1,300 ¥1,404
R006-0870 M8X70 STUD ¥1,300 ¥1,404
FGRA-067 MAIN/FRONT CASE PLUG ¥1,200 ¥1,296
R005-M121.5 M12 X 1.5 VSTI PLUG ¥1,200 ¥1,296
FRD6-018 CASE SEALING O RING ¥1,200 ¥1,296
FRD6-085 SWITCH COVER SEALING O RING ¥1,200 ¥1,296
R005-M121.5 M12 X 1.5 VSTI PLUG ¥1,200 ¥1,296
FRD6-018 CASE SEALING O RING ¥1,200 ¥1,296
FRD6-085 SWITCH COVER SEALING O RING ¥1,200 ¥1,296
R005-M121.5 M12 X 1.5 VSTI PLUG ¥1,200 ¥1,296
FGRA-067 MAIN/FRONT CASE PLUG ¥1,200 ¥1,296
R005-M121.5 M12 X 1.5 VSTI PLUG ¥1,200 ¥1,296
FGRA-067 MAIN/FRONT CASE PLUG ¥1,200 ¥1,296
R006-0839 M8X39 STUD ¥1,000 ¥1,080
R006-0842 M8X42 STUD ¥1,100 ¥1,188
R006-0839 M8X39 STUD ¥1,000 ¥1,080
R120-1815 MB1815 DU BUSH ¥1,000 ¥1,080
R006-0839 M8X39 STUD ¥1,000 ¥1,080
R006-0842 M8X42 STUD ¥1,100 ¥1,188
R006-0839 M8X39 STUD ¥1,000 ¥1,080
R006-0842 M8X42 STUD ¥1,100 ¥1,188
R006-0845 M8X45 STUD ¥1,100 ¥1,188
R006-0839 M8X39 STUD ¥1,000 ¥1,080
R006-0842 M8X42 STUD ¥1,100 ¥1,188
R006-0839 M8X39 STUD ¥1,000 ¥1,080
R006-0842 M8X42 STUD ¥1,100 ¥1,188
R035-08 1" (26 MM) DOWTY WASHER (3/4 BSP) ¥800 ¥864
FGRA-096 REAR CASE GASKET ¥900 ¥972
FGRA-097 MAIN/FRONT CASE GASKET ¥900 ¥972
FH6S-019 SELECTOR CASE GASKET ¥900 ¥972
R035-08 1" (26 MM) DOWTY WASHER (3/4 BSP) ¥800 ¥864
FGTR-SEQ-059 GEAR LEVER RETURN SPRING ¥900 ¥972
FHKS-007 FRONT CASE GASKET ¥900 ¥972
FHKS-008 REAR CASE GASKET ¥900 ¥972
R035-08 1" (26 MM) DOWTY WASHER (3/4 BSP) ¥800 ¥864
R035-08 1" (26 MM) DOWTY WASHER (3/4 BSP) ¥800 ¥864
R035-08 1" (26 MM) DOWTY WASHER (3/4 BSP) ¥800 ¥864
FGRA-096 REAR CASE GASKET ¥900 ¥972
FGRA-097 MAIN/FRONT CASE GASKET ¥900 ¥972
FH6S-SEQ-029 SEQ/SELECTOR HOUSING GASKET ¥900 ¥972
R035-08 1" (26 MM) DOWTY WASHER (3/4 BSP) ¥800 ¥864
FGRA-096 REAR CASE GASKET ¥900 ¥972
FGRA-097 MAIN/FRONT CASE GASKET ¥900 ¥972
FH6S-SEQ-029 SEQ/SELECTOR HOUSING GASKET ¥900 ¥972
FGRA-096 REAR CASE GASKET ¥900 ¥972
FGRA-097 MAIN/FRONT CASE GASKET ¥900 ¥972
R110-2035 AS2035 THRUST WASHER 1MM ¥700 ¥756
FH6S-SEQ-026 NEUTRAL LOCKOUT PLUNGER SPRING ¥700 ¥756
R110-2035 AS2035 THRUST WASHER 1MM ¥700 ¥756
FH6S-SEQ-026 NEUTRAL LOCKOUT PLUNGER SPRING ¥700 ¥756
R110-2035 AS2035 THRUST WASHER 1MM ¥700 ¥756
FH6S-SEQ-026 NEUTRAL LOCKOUT PLUNGER SPRING ¥700 ¥756
R110-2035 AS2035 THRUST WASHER 1MM ¥700 ¥756
FH6S-SEQ-026 NEUTRAL LOCKOUT PLUNGER SPRING ¥700 ¥756

9/12



品番 商品内容１ 税抜定価 税込定価

2016.3.2
株式会社　東名パワード

HOLINGER 価格表

FH6S-SEQ-027 DETENT PLUNGER SPRING (C672) ¥600 ¥648
R007-040706 M4X0.7PX6 TIME SERT METRIC ¥700 ¥756
FH6S-SEQ-027 DETENT PLUNGER SPRING (C672) ¥600 ¥648
FH6S-SEQ-027 DETENT PLUNGER SPRING (C672) ¥600 ¥648
FH6S-SEQ-027 DETENT PLUNGER SPRING (C672) ¥600 ¥648
FH6S-SEQ-027 DETENT PLUNGER SPRING (C672) ¥600 ¥648
R140-52 BR52 INA INTERNAL CIRCLIP ¥500 ¥540
R140-52 BR52 INA INTERNAL CIRCLIP ¥500 ¥540
R140-45 BR45 INA INTERNAL CIRCLIP ¥500 ¥540
R140-52 BR52 INA INTERNAL CIRCLIP ¥500 ¥540
R140-45 BR45 INA INTERNAL CIRCLIP ¥500 ¥540
R140-52 BR52 INA INTERNAL CIRCLIP ¥500 ¥540
R140-52 BR52 INA INTERNAL CIRCLIP ¥500 ¥540
FGRA-098 GEAR LEVER SPRING ¥400 ¥432
FRD6-099 PLUNGER SPRING ¥400 ¥432
FGRA-6N-084 LONG PLUNGER SPRING ¥400 ¥432
FGRA-6N-084 LONG PLUNGER SPRING ¥400 ¥432
FGTR-SEQ-062 SPRING ( 080-.890"LONG) ¥400 ¥432
FGTR-SEQ-069 GTR PAWL SPRING ¥400 ¥432
R132-BS137 O RING 2"  X 3/32" BS137 (HTA FILTER) ¥400 ¥432
R160-18 18 MM DIA BRASS WELSH PLUG ¥400 ¥432
R160-20 20MM  BRASS WELCH PLUG ¥400 ¥432
FRD6-099 GEARLEVER CENTRALISING SPRING, STRONG ¥400 ¥432
R132-BS137 O RING 2"  X 3/32" BS137 ¥400 ¥432
R160-18 18 MM DIA BRASS WELSH PLUG ¥400 ¥432
R160-20 20MM  BRASS WELCH PLUG ¥400 ¥432
FGRA-098 GEAR LEVER SPRING ¥400 ¥432
FRD6-099 PLUNGER SPRING ¥400 ¥432
FGRA-098 GEAR LEVER SPRING ¥400 ¥432
FH6S-SEQ-030 REAR SWITCH CASE GASKET ¥400 ¥432
FGRA-098 GEAR LEVER SPRING ¥400 ¥432
FH6S-SEQ-030 REAR SWITCH CASE GASKET ¥400 ¥432
FH6S-SEQ-030 REAR SWITCH CASE GASKET ¥400 ¥432
R040-0850 M8X50 UNBRAKO DOWEL ¥300 ¥324
FGRA-100 DETENT SPRING ¥200 ¥216
R040-0850 M8X50 UNBRAKO DOWEL ¥300 ¥324
R140-20 BR20 INA INTERNAL CIRCLIP ¥300 ¥324
FGRA-6N-080 SHORT DETENT BALL SPRING ¥300 ¥324
R040-0850 M8X50 UNBRAKO DOWEL ¥300 ¥324
R140-20 BR20 INA INTERNAL CIRCLIP ¥300 ¥324
R140-20 BR20 INA INTERNAL CIRCLIP ¥300 ¥324
R143-50 D1300 0500 INTERNAL CIRCLIP ¥200 ¥216
R040-0850 M8X50 UNBRAKO DOWEL ¥300 ¥324
R140-20 BR20 INA INTERNAL CIRCLIP ¥300 ¥324
R040-0850 M8X50 UNBRAKO DOWEL ¥300 ¥324
R140-20 BR20 INA INTERNAL CIRCLIP ¥300 ¥324
FH6S-SEQ-028 SPIRAL ACTUATOR CENTRALISING SCREW ¥300 ¥324
R031-06 M6 WAVE WASHER ¥100 ¥108
R040-0820 M8X20 UNBRAKO DOWEL ¥200 ¥216
R041-0522 M5X22 ROLLPIN - BLACK - UNBRAKO ¥200 ¥216
FGRA-107 WIRE CIRCLIP ¥100 ¥108
R031-06 M6 WAVE WASHER ¥100 ¥108
R031-12 M12 WAVE WASHER ¥100 ¥108
R040-0820 M8X20 UNBRAKO DOWEL ¥200 ¥216
R040-0825 M8X25 UNBRAKO DOWEL ¥200 ¥216
R041-0522 M5X22 ROLLPIN - BLACK - UNBRAKO ¥200 ¥216
R145-04 D1500 0040 `E' CIRCLIP ¥100 ¥108
FGRA-107 WIRE CIRCLIP ¥100 ¥108
R041-0522 M5X22 ROLLPIN - BLACK - UNBRAKO ¥200 ¥216
R001-0680 M6X80 UNBRAKO SHCS ¥200 ¥216
R031-06 M6 WAVE WASHER ¥100 ¥108
R040-0616 M6X16 UNBRAKO DOWEL ¥100 ¥108
R040-0825 M8X25 UNBRAKO DOWEL ¥200 ¥216
R041-0510 M5X10 ROLLPIN - BLACK - UNBRAKO ¥200 ¥216
R041-0522 M5X22 ROLLPIN - BLACK - UNBRAKO ¥200 ¥216
R102-0314 M3X13.8 ROLL ¥200 ¥216
R102-0316 M3X15.8 ROLL ¥200 ¥216
R102-0320 M3X20 ROLL ¥200 ¥216
R132-101.0 OR 10X1.0 METRIC O RING ¥100 ¥108
FHTA-077 QUILL SHAFT WIRE CIRCLIP ¥200 ¥216
FZ-093 RATCHET PAWL SPRING ¥200 ¥216
R001-0680 M6X80 UNBRAKO SHCS ¥200 ¥216
R031-06 M6 WAVE WASHER ¥100 ¥108
R040-0616 M6X16 UNBRAKO DOWEL ¥100 ¥108
R040-0825 M8X25 UNBRAKO DOWEL ¥200 ¥216
R041-0510 M5X10 ROLLPIN - BLACK - UNBRAKO ¥200 ¥216
R041-0522 M5X22 ROLLPIN - BLACK - UNBRAKO ¥200 ¥216
R102-0314 M3X13.8 ROLL ¥200 ¥216
R102-0316 M3X15.8 ROLL ¥200 ¥216
R132-101.0 OR 10X1.0 METRIC O RING ¥100 ¥108
FZ-093 RATCHET PAWL SPRING ¥200 ¥216

10/12



品番 商品内容１ 税抜定価 税込定価

2016.3.2
株式会社　東名パワード

HOLINGER 価格表

R005-125BSP PR PLUG 1/8 BSP ¥100 ¥108
R005-250NPT PLUG-1/4 NPT ¥200 ¥216
R031-06 M6 WAVE WASHER ¥100 ¥108
R031-12 M12 WAVE WASHER ¥100 ¥108
R040-0616 M6X16 UNBRAKO DOWEL ¥100 ¥108
R040-0825 M8X25 UNBRAKO DOWEL ¥200 ¥216
R041-0522 M5X22 ROLLPIN - BLACK - UNBRAKO ¥200 ¥216
FGRA-107 WIRE CIRCLIP ¥100 ¥108
FZ-082 SWITCH SPRING ¥200 ¥216
FZ-093 RATCHET PAWL SPRING ¥200 ¥216
R005-125BSP PR PLUG 1/8 BSP ¥100 ¥108
R005-250NPT PLUG-1/4 NPT ¥200 ¥216
R031-06 M6 WAVE WASHER ¥100 ¥108
R040-0616 M6X16 UNBRAKO DOWEL ¥100 ¥108
R040-0825 M8X25 UNBRAKO DOWEL ¥200 ¥216
R041-0522 M5X22 ROLLPIN - BLACK - UNBRAKO ¥200 ¥216
FGRA-107 WIRE CIRCLIP ¥100 ¥108
FZ-082 SWITCH SPRING ¥200 ¥216
FZ-093 RATCHET PAWL SPRING ¥200 ¥216
R000-0830 M8 X 30 H/T 10.9 HEX HEAD BOLT Z/Y ¥100 ¥108
R001-0512 M5X12 UNBRAKO SHCS ¥100 ¥108
R001-0616 M6X16 UNBRAKO SHCS ¥100 ¥108
R001-0830 M8X30 UNBRAKO SHCS ¥100 ¥108
R001-0835 M8X35 UNBRAKO SHCS ¥100 ¥108
R012-375UNC 3/8UNCX3/8 SHSS IMPERIAL ¥100 ¥108
R020-08 M8 Z/P HEX NUT ¥100 ¥108
R031-08 M8 WAVE WASHER ¥100 ¥108
R101-0516 5/16"" BALL ¥100 ¥108
R000-0620 M6 X 20 H/T 10.9 HEX HEAD BOLT Z/Y ¥100 ¥108
R000-0830 M8 X 30 H/T 10.9 HEX HEAD BOLT Z/Y ¥100 ¥108
R001-0512 M5X12 UNBRAKO SHCS ¥100 ¥108
R001-0516 M5X16 UNBRAKO SHCS ¥100 ¥108
R001-0830 M8X30 UNBRAKO SHCS ¥100 ¥108
R001-0835 M8X35 UNBRAKO SHCS ¥100 ¥108
R002-0512 M5X12 FLAT HEAD SOCKET SCREW - UNBRAKO ¥100 ¥108
R020-08 M8 Z/P HEX NUT ¥100 ¥108
R020-12 M12  Z/P HEX NUT ¥100 ¥108
R023-08 M8 NYLOC NUT ¥100 ¥108
R031-05 M5 WAVE WASHER ASK ASK
R031-08 M8 WAVE WASHER ¥100 ¥108
R041-0206 M2X6 ROLLPIN - BLACK - UNBRAKO ASK ASK
R041-0310 M3X10 ROLLPIN - BLACK - UNBRAKO ASK ASK
R041-0416 M4X16 ROLLPIN - BLACK - UNBRAKO ¥100 ¥108
R041-0626 M6X26 ROLLPIN - BLACK - UNBRAKO ¥100 ¥108
R101-0516 5/16"" BALL ¥100 ¥108
R144-0716 N1400 0043 EXTERNAL CIRCLIP 7/16 ¥100 ¥108
R041-0320 M3X20 ROLLPIN - BLACK - UNBRAKO ASK ASK
R000-0830 M8 X 30 H/T 10.9 HEX HEAD BOLT Z/Y ¥100 ¥108
R001-0410 M4X10 UNBRAKO SHCS ¥100 ¥108
R001-0512 M5X12 UNBRAKO SHCS ¥100 ¥108
R001-0625 M6X25 UNBRAKO SHCS ¥100 ¥108
R001-0635 M6X35 UNBRAKO SHCS ¥100 ¥108
R001-0645 M6X45 UNBRAKO SHCS ¥100 ¥108
R001-0835 M8X35 UNBRAKO SHCS ¥100 ¥108
R004-0610 M6X10 SHSS ¥100 ¥108
R004-0810 M8X10 SHSS ¥100 ¥108
R012-375UNC 3/8UNCX3/8 SHSS IMPERIAL ¥100 ¥108
R020-08 M8 Z/P HEX NUT ¥100 ¥108
R023-08 M8 NYLOC NUT ¥100 ¥108
R030-04 M4 WASHER (S/S) ASK ASK
R031-08 M8 WAVE WASHER ¥100 ¥108
R041-0206 M2X6 ROLLPIN - BLACK - UNBRAKO ASK ASK
R041-0214 M2X14 ROLLPIN - BLACK - UNBRAKO ASK ASK
R041-0312 M3X12 ROLLPIN - BLACK - UNBRAKO ASK ASK
FRD6-025 WIRE CIRCLIP ¥100 ¥108
R000-0830 M8 X 30 H/T 10.9 HEX HEAD BOLT Z/Y ¥100 ¥108
R001-0410 M4X10 UNBRAKO SHCS ¥100 ¥108
R001-0512 M5X12 UNBRAKO SHCS ¥100 ¥108
R001-0616 M6X16 UNBRAKO SHCS ¥100 ¥108
R001-0625 M6X25 UNBRAKO SHCS ¥100 ¥108
R001-0635 M6X35 UNBRAKO SHCS ¥100 ¥108
R001-0645 M6X45 UNBRAKO SHCS ¥100 ¥108
R001-0835 M8X35 UNBRAKO SHCS ¥100 ¥108
R004-0608 M6X8 SHSS ¥100 ¥108
R012-375UNC 3/8UNCX3/8 SHSS IMPERIAL ¥100 ¥108
R020-08 M8 Z/P HEX NUT ¥100 ¥108
R023-08 M8 NYLOC NUT ¥100 ¥108
R030-04 M4 WASHER (S/S) ASK ASK
R031-08 M8 WAVE WASHER ¥100 ¥108
R041-0214 M2X14 ROLLPIN - BLACK - UNBRAKO ASK ASK
R041-0310 M3X10 ROLLPIN - BLACK - UNBRAKO ASK ASK

11/12



品番 商品内容１ 税抜定価 税込定価

2016.3.2
株式会社　東名パワード

HOLINGER 価格表

R000-0830 M8 X 30 H/T 10.9 HEX HEAD BOLT Z/Y ¥100 ¥108
R001-0512 M5X12 UNBRAKO SHCS ¥100 ¥108
R001-0516 M5X16 UNBRAKO SHCS ¥100 ¥108
R001-0616 M6X16 UNBRAKO SHCS ¥100 ¥108
R001-0635 M6X35 UNBRAKO SHCS ¥100 ¥108
R001-0645 M6X45 UNBRAKO SHCS ¥100 ¥108
R001-0620 M6X20 UNBRAKO SHCS ¥100 ¥108
R001-0830 M8X30 UNBRAKO SHCS ¥100 ¥108
R001-0835 M8X35 UNBRAKO SHCS ¥100 ¥108
R012-375UNC 3/8UNCX3/8 SHSS IMPERIAL ¥100 ¥108
R020-08 M8 Z/P HEX NUT ¥100 ¥108
R023-08 M8 NYLOC NUT ¥100 ¥108
R020-12 M12  Z/P HEX NUT ¥100 ¥108
R031-05 M5 WAVE WASHER ASK ASK
R031-08 M8 WAVE WASHER ¥100 ¥108
R041-0312 M3X12 ROLLPIN - BLACK - UNBRAKO ASK ASK
R000-0830 M8 X 30 H/T 10.9 HEX HEAD BOLT Z/Y ¥100 ¥108
R001-0512 M5X12 UNBRAKO SHCS ¥100 ¥108
R001-0516 M5X16 UNBRAKO SHCS ¥100 ¥108
R001-0635 M6X35 UNBRAKO SHCS ¥100 ¥108
R001-0645 M6X45 UNBRAKO SHCS ¥100 ¥108
R001-0820 M8X20 UNBRAKO SHCS ¥100 ¥108
R001-0830 M8X30 UNBRAKO SHCS ¥100 ¥108
R001-0835 M8X35 UNBRAKO SHCS ¥100 ¥108
R020-08 M8 Z/P HEX NUT ¥100 ¥108
R023-08 M8 NYLOC NUT ¥100 ¥108
R031-05 M5 WAVE WASHER ASK ASK
R031-08 M8 WAVE WASHER ¥100 ¥108
R041-0206 M2X6 ROLLPIN - BLACK - UNBRAKO ASK ASK
R041-0214 M2X14 ROLLPIN - BLACK - UNBRAKO ASK ASK
R041-0310 M3X10 ROLLPIN - BLACK - UNBRAKO ASK ASK

12/12


